
Multiply by 10¹ (C)Find each product.
1.8 × 10¹ = 2.712 × 10¹ =
9.7 × 10¹ = 6.29 × 10¹ =
2.058 × 10¹ = 2.2 × 10¹ =
8.42 × 10¹ = 1.636 × 10¹ =
7.6593 × 10¹ = 5.34 × 10¹ =
5.71 × 10¹ = 0.37 × 10¹ =
3.6 × 10¹ = 7.3959 × 10¹ =
1.67 × 10¹ = 7.413 × 10¹ =
0.7053 × 10¹ = 0.7 × 10¹ =
2.555 × 10¹ = 3.272 × 10¹ =
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Multiply by 10¹ (C) AnswersFind each product.
1.8 × 10¹ = 18 2.712 × 10¹ = 27.12
9.7 × 10¹ = 97 6.29 × 10¹ = 62.9
2.058 × 10¹ = 20.58 2.2 × 10¹ = 22
8.42 × 10¹ = 84.2 1.636 × 10¹ = 16.36
7.6593 × 10¹ = 76.593 5.34 × 10¹ = 53.4
5.71 × 10¹ = 57.1 0.37 × 10¹ = 3.7
3.6 × 10¹ = 36 7.3959 × 10¹ = 73.959
1.67 × 10¹ = 16.7 7.413 × 10¹ = 74.13
0.7053 × 10¹ = 7.053 0.7 × 10¹ = 7
2.555 × 10¹ = 25.55 3.272 × 10¹ = 32.72
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